
SAP ABAP table /BEV3/CHVGROUP {Generated Table for View /BEV3/CHVGROUP}

_BEV3_CHVGROUP

MANDT [CLNT (3)]

YVWDNR [NUMC (13)]

VBKL [CHAR (4)]

RI [NUMC (6)]

VBIN [NUMC (4)]

VBNR [NUMC (9)]

VBKL_A [CHAR (4)]

RI_A [NUMC (6)]

VBIN_A [NUMC (4)]

VBKL_B [CHAR (4)]

RI_B [NUMC (6)]

VBIN_B [NUMC (4)]

VBKL_C [CHAR (4)]

RI_C [NUMC (6)]

VBIN_C [NUMC (4)]

VBKL_D [CHAR (4)]

RI_D [NUMC (6)]

VBIN_D [NUMC (4)]

VBKL_E [CHAR (4)]

RI_E [NUMC (6)]

VBIN_E [NUMC (4)]

VBKL_F [CHAR (4)]

RI_F [NUMC (6)]

VBIN_F [NUMC (4)]

VBKL_G [CHAR (4)]

RI_G [NUMC (6)]

VBIN_G [NUMC (4)]

VBKL_H [CHAR (4)]

RI_H [NUMC (6)]

VBIN_H [NUMC (4)]

VBKL_I [CHAR (4)]

RI_I [NUMC (6)]

VBIN_I [NUMC (4)]

VBKL_J [CHAR (4)]

RI_J [NUMC (6)]

VBIN_J [NUMC (4)]

BEDINGG1 [NUMC (4)]

BEDINGG2 [NUMC (4)]

BEDINGG3 [NUMC (4)]

VBDTA [DATS (8)]

_BEV3_CHTBRI

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

RGIDENT [NUMC (6)]

 /BEV3/CHVGROUP-RI_A = /BEV3/CHTBRI-RGIDENT 

0..N

1

 /BEV3/CHVGROUP-RI_B = /BEV3/CHTBRI-RGIDENT 

0..N

1

 /BEV3/CHVGROUP-RI_C = /BEV3/CHTBRI-RGIDENT 

0..N

1
 /BEV3/CHVGROUP-RI_D = /BEV3/CHTBRI-RGIDENT 

0..N

1
 /BEV3/CHVGROUP-RI_E = /BEV3/CHTBRI-RGIDENT 

0..N

1  /BEV3/CHVGROUP-RI_F = /BEV3/CHTBRI-RGIDENT 

0..N

1  /BEV3/CHVGROUP-RI_G = /BEV3/CHTBRI-RGIDENT 

0..N

1  /BEV3/CHVGROUP-RI_H = /BEV3/CHTBRI-RGIDENT 

0..N
1  /BEV3/CHVGROUP-RI_I = /BEV3/CHTBRI-RGIDENT 

0..N1
 /BEV3/CHVGROUP-RI_J = /BEV3/CHTBRI-RGIDENT 

0..N
1  /BEV3/CHVGROUP-VBKL_A = /BEV3/CHTBRI-VBKLASSE 

0..N
1

 /BEV3/CHVGROUP-VBKL_B = /BEV3/CHTBRI-VBKLASSE 0..N1

 /BEV3/CHVGROUP-VBKL_C = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_D = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_E = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_F = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_G = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_H = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_I = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHVGROUP-VBKL_J = /BEV3/CHTBRI-VBKLASSE 

0..N

1

T000

MANDT [CLNT (3)]

 /BEV3/CHVGROUP-MANDT = T000-MANDT 

0..N

1


